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QUESTION 1

Strict Lockdown Mode has been enabled on an ESXi host. 

Which action should an administrator perform to allow ESXi Shell or SSH access for users with administrator
privileges? 

A. Grant the users the administrator role and enable the service. 

B. Add the users to Exception Users and enable the service. 

C. No action can be taken, Strict Lockdown Mode prevents direct access. 

D. Add the users to vsphere.local and enable the service. 

Correct Answer: B 

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic= %2Fcom.vmware.vsphere.security.doc%2FGUID-
F8F105F7-CF93-46DF-9319- F8991839D265.html 

 

QUESTION 2

An administrator has configured a cluster with the Host Failures Cluster Tolerates admission control policy, as shown in
the Exhibit: 

Based on the exhibit, which two statements are true? (Choose two.) 

A. The number of slots per cluster node is four. 

B. The cluster can sustain loss of only one node. 

C. The number of slots per cluster node is three. 

D. The cluster can sustain the loss of two nodes. 

Correct Answer: BC 

Latest 2V0-621D Dumps | 2V0-621D PDF Dumps | 2V0-621D Study Guide                                2 / 4

https://www.passapply.com/2v0-621d.html
https://www.passapply.com/2v0-621d.html
https://www.passapply.com/2v0-621d.html


https://www.passapply.com/2v0-621d.html
2024 Latest passapply 2V0-621D PDF and VCE dumps Download

 

QUESTION 3

After configuring a Virtual SAN cluster, an administrator using the vSphere Web Client notices that the Virtual SAN
datastore is smaller than expected. The cluster contains: 

Three ESXi hosts Each host has one 10GB SDD Each host has one 100GB HDD 

Why would the Virtual SAN datastore show as 100GB instead of 300GB? 

A. There is a network problem with the Virtual SAN vmkernel ports. 

B. The Virtual SAN VASA provider is disabled. 

C. vSphere High Availability is enabled on the Virtual SAN cluster. 

D. The Virtual SAN cluster must be managed using the vSphere Web Client. 

Correct Answer: A 

Reference: 

http://kb.vmware.com/selfservice/microsites/search.do?language=en_USandcmd=displayKC andexternalId=2058368 

 

QUESTION 4

An object has inherited permissions from two parent objects. What is true about the permissions on the object? 

A. The common permissions between the two are applied and the rest are discarded. 

B. The permissions are combined from both parent objects. 

C. No permissions are applied from the parent objects. 

D. The permission is randomly selected from either of the two parent objects. 

Correct Answer: B 

Most inventory objects inherit permissions from a single parent object in the hierarchy. For example, a datastore inherits
permissions from either its parent datastore folder or parent datacenter. Virtual machines inherit permissions from both
the parent virtual machine folder and the parent host, cluster, or resource pool simultaneously. To restrict a user\\'s
privileges on a virtual machine, you must set permissions on both the parent folder and the parent host, cluster, or
resource pool for that virtual machine. 

Reference: http://pubs.vmware.com/vsphere-4-esx-vcenter/index.jsp?topic=/
com.vmware.vsphere.dcadmin.doc_41/vsp_dc_admin_guide/man
aging_users_groups_roles_and_permissions/c_hierarchical_inheritance_of_permissions.ht ml 

 

QUESTION 5

Which two methods are recommended for managing the VMware Directory Service? (Choose two.) 
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A. Utilize the vmdir command. 

B. Manage through the vSphere Web Client. 

C. Manage using the VMware Directory Service. 

D. Utilize the dc rep command. 

Correct Answer: AB 

To manage VMware directory service, you can use vmdir command and vsphere web client. VMware directory service
is always managed using vmdir command which is specifically used for directory services. 
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